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8 (1) x=—1, y=5 (2) x=2, y=3
(3) x=-2, y=3 (4) x=1, y=-3
(5) x=4, y=—1 (6) x=1, y=—5

[(26X=Y | #&RIEB

9 (), (s)

BRRR
K1, x=p, y=-3 #RALRE 2L, ¥
DO LDL D% ST,

10 (1) x=13, y=8 (2) x=—5, y=8

(3) x=-2, y=1 (4) x=%, y:%

1 (1) x=11, y=—2 (2) x=—1, y=—7
(3) x=7, y=4 (4) x=4, y=—7

12 (1) x=-1, y=4 (2) x=5, y=2
(3) x=3, y=1 (4) x= }1, :%

[26~R—Y ] (6] WALBIKEIIARER
13 (1) x=-2, y=10 (2) x=1, y=—2

(3) x=4, y=-2 (4) x=1, y=3
2INR=Y
14 (1) x=4, y=—1 (2) x=3, y=—2
(3) x=3, y=2 (4) x=1, y=—1
(5) x=5, y=—1 (6) x=4, y=2
15 (1) a=-1, b=2 (2) a=1, b=2
AR
(e x=3, y=—2 2fAT 5L,
o [3a+2b=1
@.Lﬁ’&xﬁ{‘gb_i_z HBTE D,

hzElE, a=—1, b=2
(=12 x=2, y=—3 AT 2 &,
6—3a=3

(BN H#E J‘{Zb 6 7)"(360
hzfl &, a=1, b 2
16 a=5, b=1
BEER

X—y=a- @ x+y:1 ...... @
{3x+2y=5 @ {bx~y:5 @
@DE&T, EHEXNEMCE, x=3, y=—2
hoE®, @QRALTEEAETSE,

a=5, b=1

TFEREA

17 (1) x=1, y=—1 (2) x=3, y=—1
(3) x=3, y=4 (4) x=-1, y=3
18 (1) x=4, y=9 (2) x=2, y=—6
(3) x=15, y=—9 (4) x=5, y=2
(5) x=-—10, y=8 (6) x=3, y=4
19 (1) a=1, b=-3 (2) a=2, b=1

BRER

(s x=2, y=—1 2XAT 5 &,

ik | 20070 aca s,
2a+b=-—1

hzfdt, a=1, b=-3
{3x+4y 2@ {bx—-ay=4 3G

ax—by=5"@ x+3y=—1 @
DE@T, WMUHHEAEHE, x=2, y=—1
IhHED, DITRATSE,
+
w0070 e,
IhEMLE, a=2, b=1



m HBRIEB

20 (1) x=20, y=—8 (2) x=3, y=—2
(3) x=-3, y= 277 (4) x=2, y=1
BRER

OFXEERL T,

i%ﬁjﬁiit{“x“):s(sy_l)

prtyms Z< L,

(2) x=1, y=2

MARRICRALTRET

ax—2y=da @
@ x=p, y=q xRATHEL, 4p+3g=—1
ZoRE, prg=—1 THEIHEXZMH L,
p=2, q=—3
x=2, y=—3 #@OXIRLALT,
2a—2X(—3)=4a, —2a=—6, a=3
23 A=2, B=3, C=2

Dz x=2, y=1 #RATHE, 24+B=7-O
Dz x=2, y=1 #RATHE, 2C—-1=3--O@
@iz x=—1, y=3 2fAT 2L, —A+3B=7-@
@QLDTHN RN EML L, A=2, B=3
7, @FEHETL L, C=2
I ARXOFAN)
24 80MYIF--- 6 8, 100ME)F--- 8 K
RS
SOM Y F# M, 100MEIFE L2y ETHE,

x+y=14 .

{80x+100y=1280 SRERCE, =6, y=8
25 KA--210A\, FEL---140A

e

KANZxAN, FELEZYANLTEE,

x+y=350

{ 300 x+ 150 y=84000

Zhefdk, x=210, y=140
26 YA Z-150M, AHAA--70M

e
DAZ1M%ExM, A2A1EZyHETHLE,
12x-+15y+150=3000
{ 16x-+10y+150=3250
IhufEdt, x=150, y=70
27 K45 A0--660m, AR SHE -
E]
E0OARETCOEDNY £ xm, KRR LFEK
FTOED) ZymEThL,

{x+y 1300

V= ZRAMC L, x=660, y=640
60 T160 1° v

28 30km
AEEN
ABM®ED Y % xkm, BCHOED Y % ykm
E¥5E,

640 m

x=3y
y _ IhxfEd L, x=30, 10
{20+5 =35 y=

29 bD--6km,
BRER
EYOEDOY % xkm, TYDEDY Zykm&
BLE,

x+y=14

%+%:5 IhEML, x=6, y=8

30 83
RS
b EDHRBOTOMOEE x, —DNOHKE
yeBl&,
x+y=11
{ 10x+y=10y+x+45
IR L, x=8, y=3 Likbhb, bED
A% 83
31 785
BRI
LEOHAMOBOMNOEE x, —DNO¥E
yeBli,
x+y=12
{100x+80+y=100y+80+x+198
Ihzfl E, x=7, y=5 &%5Hh5H, bED
370 HREKIL 785
32 355
BRI
L LEOBEHOHEOMNOE % x, TOME—DAL
D EyEBL L,
x+2y=13
{ 100x+10y+y=100y+10y+x—198

TY--8km

_8_



hzfil L, x=3, y=5 &£ %575,
370 BREIE 355
HBRIEA
33 80D F#K--- 80, 9O D FHK--- 403
RS
EEBOM D FME v, OHOFHKZE ylL B
<L,
x+y=120
{ 80.x+90y=10000
IhEMl s, x=80, y=40
34 0MHDOBET--- 9 fil, 100D BHEF-- 111
BRS
1 H8OM D BHET % x fH,
ZyfEEBL L,
x+y=20
{80x+100y:80y+100x+40
IhzE@E e, x=9, y=11
35 A#A S0 105km, IEASBHI---75km
BRE
ABDPSIHEZTOEDY % xkm, K15 BH
FTOEDOY ZykmE B &,

HED

1 fE100M @ BHEF

x+y=18

2ptap SHEMCE, 27105 y=T5
36 A---4r#240m, B---4#160m

[

ADS#E% xm, BOG#EZymeBL &,
12x+12y=4800
{60x—60y=4800
IhzfEd &, x=240, y=160
37 37
SR
bEOBKOTOMNOEE X, —DMNOHK%Ey
LB,
10x+y=10y+x—36
{10x+y+10y+x=110
IhEME, x=3, y=7 £%b2DH, LD
21 7 D HEHIL 37

RBRIEB
38 16t
BEE
50/ Y)F % x i, 100M8)F &£ 200 F%2 £ h
ZFhylet s,
x+2y=24
{50x+100y+200y=2000
Ihzffd Lk, x=16, y=4
39 /—1---180F, #R&E---501
AER

J—t 1 MoEfizxM, $HE1Ax0EMT y
HeBsLlL,
5x+10y=1100+300
{3x+5y=650+140
ZhEM e, x=180, y=50
40 257
AR
HEDEBBOHEONOEE x, —DNO%E Yy
EBLL,
x+5+y=Tx
{ 100x+50+y=100y+50+x—495
ChEMmE, x=2, y=7 £%dhbH, bED
=R 257
41 — R 50km, &#GERE-- 180km
BRER
—BEHKOBEDOY & xkm, SHEEHKOEDD
#ykmk B &,

Xy _
t 0 50 =35

XY

IhzfE &, x=50, y=180
10 12
42 HHEPREE200m, #E--18m/B
BEER
FIEOESZxm, #3Zym/BLbBlL,
x+250=25y _
{830—x=35y hzfEd &, x=200, y=18
B AEROFAR)
43 6% D EXEK-100g, 12%DEIEK--200g
SR
6%DREIEKE xg, 12%DEEXKE ygiRES
LI5neE,

4x+y=300
6 .12 10
100 * 7100 Y =700 <300

SHAEM X, x=100, y=200
44 3% DK --90g, 12%DEEK---30g
BEER
8% DEMKE xg, 122208 KE ygiRESD
L3 5hE,
x+y+60=180
8 12 6

mx-i-my:lo—ox 180

Ihz# L, x=90, y=30
45 A--10%, B+5%
e
ADEEKDIEREZ x%, BOREKDORES
ynlBlk,
[300><L+200><~y—:500><i

100 100 100

X Yy _ 7
200X 755 +300X 755 =500 X 755
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InEfE L, x=10, y=5
46 BT---159N, T 120N
RS
MEOBETZxAN, BTFEyNEBLE,
x+y=279—4
{ 0.06x—0.04y=4
ZhzHlt, x=150, y=125 &% 5Hh0,
SHEDOH 13 150X10.6=159(N), &TFix 279
—159=120(A\)
47 B 462N, LT 432N
RS
MEOBETEZxN, T2y ANLBLE,
y—x=10
{ 0.05x+0.04y=30+10
IhEME, x=440, y=450 &% 5050,
SEDOP T3 440X1.05=462(N), LFIiL 462
—30=432(\)
48 571 VY3360, EFAF v ¥ 10407
e
1ADOF VEEERRE xR,
EEBEyREBL L,
x+y=4400—700
{ 04x—02y=700
INEML L, x=2400, y=1300 L% BH 5,
2 BT L EEERIZ 2400X 1.4=3360 (&)
YAy FEEAHIE 1300X0.8=1040 (%)
49 L ¥ x---150g,
RS
L% A% xg,
1%%)(-#—%)1:75
6 18

EZRSX‘FiEiiy::QO
IhEME, x=150, y=450
50 T & A---4800M, KA A---1800M
BRER
FETEADILDOFHEE xM, KAZAD
FLOOFREEZyHEBL L,
x+y=6600
{x—300=3(y—300)
Zhzftd &, x=4800, y=1800
51 B¥-32N, &F48N

S A

b= bh--450¢g

v bEyglblL,

BRSNS

BrExN, BFEyANeBLLE,
{x+y=80

58 (x+y) =52x+62y

INEM@CE, x=32, y=48

52 3 AD¥E---23, 5 ADFE--12
BRER
3ADHEEY, 5ADPEyEBL L,

x+15+y=50
{3x+4><15+5y:189
ChEmL L, x=23, y=12
RERBEA
53 10% D fHkEK--50g, 7%DEHEK - 100g
BRRI
10% D EEK% xg, T%DENKEyg B L,
x+y=150
{ 0.1x+0.07 y=0.08 X 150
hzfEd L, x=50, y=100
54 515N, LT 23N
RS
FEORTHEE XN, TTHEZyANEBLL,
x+y=32
{ 025x=0.15y
ChEREE, x=12, y=20 &% 500, G4F
DOBFEEIIT 12X125=15(N), TTFHEIE 20
X 1.15=23(N\)
55 Z#---200g, 4HA--300g
RS
iz xg, FREygEBLLE,
05,25

100* 1 700Y=70

150, , 240
100~ 100

INEMHLE, x=200, y=300
56 6000/
SR
ADIZLDOFFEL x M, BOIE LD O
ExyMeB L,
x=3y
{ 0.2x=0.7y—200
INhEfE &, x=6000, y=2000
57 BF--24 N, KF-16A

y=1020

BRER
Brex N, wFEyNeBLL,
x+y=40

{ 82x+77y=80X40

IThERL, x=24, y=16
KREmEB
58 A-8%, B3%
R
AHAKADRER x%, BORELy%EB L,



X —2
!3oo><100+200><100 100
ShEM L, x=8, y=3

59 140N
R

BROBFEXN, KfeyNeBlL,
x+y=350
x“10+%y=300

IhEM e, x=150, y=200 %545
ABOBFAERIE 150—10=140(N)
60 EfE---241N, %A 12A
BRER
RN, EEYANEBLL,
4x+3y=1000
{4()(‘3)4‘4)1:1000
IhER L, x=241, y=12
61 fE$k---75M8, 4 AIfE--- 5600
BEER
AKXV IO ExM, ADFL v ek
DILANEZ Yy EBL L,
100 x=y+ 1900
{ 90(1.2x—5) =100x+150
INEML L, x=75, y=5600
62 KA 15N, T&H--21A
BRRR
KAZxN, FEBEYyANEBLE,
x+6=y
{ 1000 x+700 y= 1500 x-+700 X 6 + 3000
INhEfE L, x=15 y=21
[(40R=Y ] =XRIE
(1) x=3, y=2 (2) x=-1, y=2

(3) x=3, y=—4 (4) x=-3, y=1
(5) 3 y=6 (6) x=2, y=7
<1> x==2, y==3 (2) x=10, y=—16

(3) =5 y=—1 (4) x=2, y=5

ax+by=8-@ [bxtay=—1"®
{4x+y 2 - {x—4y=9 @
@?:@’Cx.iﬁﬁiﬁ%@?( L, x=1, y=—2
INLEQEGIMRALT, a, HIZOWVTD
HELHEL ML, a=—2, b=—5
(2)x=4, y=b 2 BELHFHREKIKATEE,
3X4—-b=13 £, b=-1
$7:, 4a+b=7 T, b=—1 &V, a=2

(4] #£5--300m, Fik--FHE22m
BEER
VIO R X% xm,
250+x=25y
{1070—x:35y
724
RS
bLOPDOHDONOKE x, —
Bk,
x+y=11
{ 100x+20+y=100 y+20+x+297
IhERE, x=7, y=4 %505, LD
Bz 724
6] A--300g, B---400g
ey
BEAICxg, BEBIZygOEEAKIASTY
VAR N R R

FymEB L,
SREML L, x=300, y=22

DO % y&

|%x+y:600
9 2 3 _ 5
100 3 %700~ 100 <600

ZhE &, x=300, y=400
NG 2300, A4 —hE—--
R

MESEDNT 1 RO %E x M, A4 —FE—1
RO x yHEBL L,

20 x+25y="7000
{20><1.15x+25(y—15):7000+225
IhEMLE, x=200, y=120 £ %2505, 4
EDNS 1 AROMEEE 200X1.15=230() T,
A4 — PE— 1 KOfEIE 120—15=105 (1)

10258
AR

ABDVHEERERZ DDIThh o7
H, MEMEOREL y#E B L,

y=6x
{y=8(x—5)+6
IhEHE, x=17, y=102

(9] 3758
FREK

IREFTICERLAZIL A Sy 7 % 2 K,

500L Ho4# 8y 72 y BB L,
x+y=715
x+15 , y+10

30 50 20

CNAEML &, x=375, y=340

105H]

H##% x






